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2. Input all the values required.

Arrival and Service rates

7\ No Units

Q7 78 Mo Units - Convert

C
2 |

mumper of Servers No Units

Mumber of servers in parallel open to attend
CUStOMmers. 59_54| Mo Units Convert
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Results v

3. See your results.
DISPlay Results in gRELIS = AL LD v decimals ¥

0.0516 No Units 00348 No Units
Average Time W( Average Time
Ra

ntin Syst.m Waiting in Line

5.0415

Customers 4
L Average

Average time spent by a customer from arrival Average time it takes a customer to start being
. . until fully served. served.
Customers in Customers in d
System Queue
Average number of customers in the system. Ave number of
0.8211 A' Lambda f rim
“ Avalue used in some calculations
p Server Utili_atir r
- o

Percentage of time a server is being utilized by

a Customer.
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Required values

2. Input all the values required.

Arrival and Service rates

e IE

C \

Number of Servers

Number of servers in parallel open to attend =
il »
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Calculate

Results

3. See your results.
Display Results in and show results with  4cecimais

4.5906 0.0939 no units

W Average Time

Customers ‘
ent in Syst'-m
L A\r’e I'a g e ’ageti"ne spent by a customer from arrival
. . until fully served.
Customersin Customers in o
System Queue

AVErdage numoer of customers in the system.

0.8211 A' Lambda f rim
p Server Util' _atir

0.0771 No Units

W( Average Time
Waiting in Line

Average time it takes a customer to start being

served.
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2. Input all the values required.

Arrival and Service rates

7\ No Units

I 48.89 No Units «
Number o Servers :
! Mol inits
Number of servers in parallel open to attend
Customers. ?4_425| Mo Units -

B—/\(d 118 H— X BRI (L 48.89
FERBEIROIIE (L 74.425
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Calculate

Results

3. See your results.
Display Results in and show results with 4 decimais

1.9146 0.0392 no units

W Average Time

Customers ’ it - "
1% 5 $ - In st-m

L AVerage ﬂ&l @ - %saewbye{ﬁ:crwrffow arrival

CUStOmerS in CUStomEI’S in until fully served.

System Queue

AVerage number of customers in the system.

A' Lambda frim

Awalue used in some calculations.

0.6569

p Server Utili _atir r

utiiz

Percentage of time a servel

0.0257 No Units

W(q Average Time
Waiting in Line

Average time it takes a customer to start being
served.
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